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file://///project FEARING/home/ronf/teach/EE120/ee120.£14/1

¢ imporc file

from scipy.io import wavfile

rate,datas wavfile.read(*xmit-signal.wav‘'} # 16 bit data from transmitter
omega_c = 2.0 * np.pi * 5e5 # carrier frequency of radio transmitter

Ptint-'mte «'. rate i’\ C-n \5\(9}'1)

print 'data «°', data

length « np.aize(data) Y(J() ) m(f)
print 'length « *, length
dc = 0.25%1e-6 # sample period ‘

time « dt * np.linspace({0, length, length)
# set up low pass filter hin]

hlength = 48 =18 ‘*Lt

n « np.linspace{-hlength/2.0,hlength/2.0, hlengthel) ‘ég'\

h = np.sincin/8.0}/8.0 X‘G'(H é('
? print 'h =', h n )
inphage = np.cos(omega_c*time)*data @A
Guadrature = np.sin(omega_c*time) *data i

fprint ‘inphase’, inphasef3950:4150) S\\V\ L’L{

fprint ‘quadrature’, quadrature(3950:4150]
m_est = np.convolve(inphage,h)
n_ests= np.convolve{quadrature,h)

€ig « figure(figsize = (16,8})

setup_graph(title-'Sm(n}$', x_label='time (mas)‘, y_label="$ m(n]$’, tig_size={6,3))
— = plt.plot {1000.0*time [0:length) ,m_est (0:length])
setup_graph(title='Sninl$’, x_label='time (ms)', y_label='S5 n(n)$§’, fig_sizea(6,3))
- = plt.plot{1000.0*time(0:length),n_eat [0:length])

rate = 44100

data = [ 8852 16418 14377 ..., -21190 -14377 a6s)
length = 400000

<matplotlib.figure.Figure at Ox1££75e£0>
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